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Choose the BEST Answer 

1. If communication is disrupted at any time while the crane is in operation the operator shall: 

a. Confirm via radio 

b. Stop crane movements 

c. Continue “flying” the load 

d. Sound the crane horn 

 

2. Swing Drift occurs when: 

a. The crane rotates and abruptly stops rotating 

b. The crane boom is raised and abruptly stops raising 

c. The operator slows the crane function prior to stopping 

d. The operator over-rotates the crane 

 

3. Radius is defined as: 

a. Circular area surrounding the crane in which the crane is safe to operate 

b. Distance from crane to load 

c. Center of rotation (center pin) to load center of gravity 

d.  Working area as demarcated due to power lines 

 

4. A signal person working under Washington State jurisdiction is required to be: 

a. Competent 

b. Qualified 

c. Certified 

d. Licensed 

 

5. Sling angle is the angle measured from: 

a. Sling to vertical 

b. Sling to horizontal 

c. Sling Diagonal 

d. Sling Perpendicular 

  



 
 
 

 

6. Sling angles below ______ shall not be used: 

a. 90 degrees 

b. 60 degrees 

c. 45 degrees 

d. 30 degrees 

 

7. Safe Working Load is defined as: 

a. Breaking strength of a sling 

b. Rated capacity of a sling 

c. Rated capacity of a crane 

d. Gross crane capacity 

 

8. In Washington State, a qualified person must inspect rigging: 

a. Daily or prior to each shift 

b. Monthly 

c. Prior to use 

d. Weekly 

 

9. In terms of rigging, rated capacity is synonymous with:  

a. Safe working load (SWL) 

b. Working load limit (WLL) 

c. Manufacturer’s recommended allowance (MRA) 

d. A and B 

e. A and C 

 

10. What should the operator do if the crane’s hoist line makes contact with an energized power 

line? 

a. Jump from crane with feet together 

b. Climb down from crane and run 

c. Unless imminent danger, stay in the cab until the lines are de-energized 

d. Jump from crane and run  

 

11. What is the effect of lowering the boom without lowering the load? 

a. Radius decreases 

b. Boom angle increases 

c. Distance between load and sheaves decreases 

d. Distance between load and sheaves increases 

  



 
 
 

 

12. Why should you not “pound down the eye” of choke hitch? 

a. It increases the D/d ratio 

b. It decreases the D/d ratio 

c. Resulting sling angles increase sling capacity 

d. Resulting sling angles above the eye (rendering) decrease sling capacity 

 

13. In Washington State, what is the power line trigger distance for cranes operating near power 

lines carrying up to 350kV? 

a. 25’ 

b. 50’ 

c. 20’ 

d. 10’ 

 

14. How do you know the capacity of a 4-way bridle? 

a. Two legs 

b. Three legs 

c. Four legs 

d. The safe working load indicated on the tag 

 

15. It is recommended to base capacity of a 4-way bridle on: 

a. One leg 

b. Two legs 

c. Three legs 

d. Four legs  

 

16. When operating a crane, in which position does the crane have the least capacity? 

a. Front 

b. Rear 

c. Side 

d. It depends on the crane’s quadrant of operation and load charts 

 

17. A crane should be level within: 

a. 2% 

b. 5% 

c. 1% 

d. 3% 

  



 
 
 

 

18. What is the effect of abruptly stopping the lowering of a load? 

a. Side loading the boom 

b. Dynamic loading of the crane 

c. Overheating the drum brake 

d. Two-blocking 

 

19. Shackle pins should be: 

a. Hand tight 

b. Torqued with a spud wrench 

c. Backed off ¼ turn 

d. Torqued with a crescent wrench 

 

20. What is the whip line of a crane? 

a. The auxiliary hoisting line 

b. The main hoisting line 

c. The pendant line 

d. The boom stay 

 

21. By order of increasing load retention, which is the correct answer? 

a. Basket, choker, double wrap 

b. Choker, double wrap, vertical, basket 

c. Basket, double wrap, choker 

d. Double wrap, choker, basket 

 

22. What is the effective load applied to each sling when lifting a 10,000lbs load with two synthetic 

slings used at 60-degree sling angles (sling tension)? 

a. 5,775 lbs 

b. 10,886 lbs 

c. 5,888 lbs 

d. 2,500 lbs 

 

23. The Washington Administrative Code requires a qualified signal person to know and understand 

how to use the following: 

a. Washington State’s hand signals 

b. ASME b30.5 standard hand signals 

c.  ASME B30.5 standard method for hand signals as adopted by Washington State 

d. The standard hand signals per OSHA Subpart CC 

  



 
 
 

 

24. As you boom up, the leverage of the load on the crane will: 

a. Increase 

b. Decrease 

c. Stay the same 

d. Depends on the load being lifted 

 

25. What is the potential outcome of lowering the boom on a lattice boom crane without 

simultaneously lowering the ball or block? 

a. Potential for overturning the crane 

b. Potential for over-running the load due to decreased radius 

c. Potential for two-blocking 

d. Potential for pendant line strain 

 

26. At what wind speed do crane testing standards assume? 

a. None 

b. 10mph 

c. 20mph 

d. 30mph 

 

27. In Washington State, side loading of a crane is allowed only when side loading occurs: 

a. When wind speeds are below 13m/s 

b. When dragging a load on the ground 

c. During tandem lifts 

d. When the load is freely suspended 

 

28. Shoulderless eyebolts: 

a. Do not have a load rating 

b. Must have a reduction in capacity for side loading 

c. Must be malleable 

d. Must not be used for angular lifting 

 

29. A synthetic round sling must be removed from service when: 

a. It has burn marks from welding operations 

b. The outer cover is torn 

c. The tag is hand written instead of printed 

d. The color is faded 

  



 
 
 

 

30. Rigging failure and loss of a load can cause crane instability and structural damage. This is known 

as: 

a. Dynamic loading 

b. Static loading 

c. Dynamic unloading 

d. Shock loading 

 

31. Raising or lowering a load quickly, then abruptly stopping may result in: 

a. Dynamic loading 

b. Dynamic unloading  

c. Static loading 

d. Efficient loading 

 

32. In Washington State a signal person is required when: 

a. The operator is not in full view of the load during lifting, travel, and placement 

b. Hours of darkness 

c. Near public roadways 

d. On a project where power lines exist 

 

33. What are the employer’s responsibilities when lifting personnel with a crane? 

a. Prepare a personnel lift plan 

b. Verify the need for a personnel lift and authorize the lift operation 

c. Verify qualified persons are assigned to perform lift responsibilities 

d. Require that all personnel associated with the lift receive training on the applicable 

Washington State personnel lifting requirements, task details and procedures, and 

specific signals 

e. All of the above 

 

34. The typical capacity deduction for eccentrically loaded shackles at 30 degrees is: 

a. None 

b. 30% 

c. 50% 

d. Not permitted 

 

35. The typical rated capacity deduction for shouldered eye bolts at 10 degrees is: 

a. None 

b. 45% 

c. 25% 

d. 75% 

 



 
 
 

36. All voice signals shall be given in: 

a. The signal person’s perspective 

b. The operator’s perspective 

c. Layman’s Terms 

d. The sequence as defined by the Lift Director 

 

37. The crane center pin is also known as: 

a. The sheave pin 

b. A truck crane front outrigger 

c. The center of rotation 

d. A center telescopic boom section 

 

38. A safety device that is required at all times is: 

a. Horn 

b. Anti-two block device (1992 and newer) 

c. Load weighing device (2003 and newer) 

d. All of the above 

 

39. The Qualified Signal Person’s Responsibilities do NOT include: 

a. Act as the crane operator's "eyes”  

b. Signal the load or hook based on observation and evaluation of site conditions 

c. Ensure that each load is securely rigged with the hook over the load’s center of gravity 

d. Determine proper method of rigging 

 

40. As radius increases, generally: 

a. Effect of load on leverage decreases 

b. Crane rated capacity decreases 

c. The crane swing speed increases 

d. The load swing speed decreases 

 

41. A Qualified Signal Person must compensate for: 

a. Boom deflection 

b. Unequalized load 

c. Sling angle tension 

d. Radio interference 

 

42. What piece of equipment is not included in WAC 296-155 Part L? 

a. Rough-Terrain Cranes 

b. Fixed Cab Cranes 

c. Forklifts 

d. Excavators 



 
 
 

 

43. The voice signal protocol requires 3 key components in the following order: 

a. Function/direction, distance/speed, function stop 

b. Function/distance, direction/speed, function stop 

c. Function/speed, direction/distance, function stop 

d. Function/speed, distance/direction, function stop 

 

44. The audible signal for backing up a crane is: 

a. One long tone 

b. One short tone 

c. Two short tones 

d. Three short tones 

 

45. Which of the following is not a requirement to prevent power line encroachment? 

a. Use a dedicated spotter 

b. Paint warning lines on the ground in view of the operator 

c. Conduct a planning meeting 

d. Provide training 

 

46. If communication between the operator and signal person is disrupted or lost the operator 

must: 

a. Safely lower the load to the ground 

b. Safely continue travel of the load, but cannot lower load 

c. Safety continue travel of the load, but cannot raise load 

d. Safely stop all control operations 

 

47. Supporting materials for outrigger floats does not include: 

a. Steel Plates 

b. Engineered composites 

c. 4 x 4 Hardwood 

d. Scaffold grade planking 

 

48. A Qualified Signal Person is NOT required when: 

a. The load's landing area is hidden from the operator’s view 

b. The operator is far enough away from the load to make judgment of distance difficult 

c. The crane is working within a boom's length of the limit of approach to power lines 

d. When the equipment is traveling and the view in the direction of travel is obstructed 

e. None of the above 

  



 
 
 

 

49. Industry considers the following as the highest risk hazard when conducting 

Assembly/Disassembly: 

a. Getting crushed between the boom and the ground or pinched by boom sections 

b. Falling from the boom during reeving 

c. Crane tip-over when raising the boom 

d.  Crane collapse when raising the boom 

 

50. Circle all correct answers.  In Washington State a Qualified Signal Person must: 

a. Know and understand the standard method of hand signals 

b. Illustrate qualifications through written and practical exams 

c. Be capable of using the voice signal protocol 

d. Understand crane dynamics such as boom deflection and drift 

e. Be capable of stopping work if work is unsafe 

f. Be familiar with Washington State 266-155 Part L Cranes



 

    

    

    

    

    

    

    

    

    

    



 

 


